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1-1f two hierarchical levels are involved in a given system the lover is conveniently called ........

1. Component 2. Assemblage 3. Subsystem 4. Natural system

2-Another ...... used procedure of establishing an industrial engineering staff is the appointment of a
senior executive to a newly created position of manager of industrial engineering function.

1. frequent 2. Emerging 3. frequently 4. Emergence

3-"appointment" means:

1. 5ly,l 8 2. Gl 3. Gl 4. 5o
4-"concivtion" means:

1. o1 2 g 3. sliicl 4. guo
5-Algorithms such as direct search methods, which require less information, are generally less .....

and more time consuming

1. Constrained 2. Efficient 3. Analytical 4. Effective

6-"responsive" means:

1. JM 2. TR 3. )w)l 4. a.-.ul.l
7- ,iblis means:

1. scheduling 2. planning 3. managing 4. expediting
8- Saisilo 3 means:

1. planning 2. controlling 3. timing 4. scheduling

9-"procurement" means:

10-"utilization" means:
1. ool 2. i, 3- (5,9 0 5gs 4 sy il

11-The movement of supplies, components, or products within an organization belongs to the

province of......
1. Maintenance area 2. Medical facilities
3. Material handling 4. Security area

12- (935 means:

1. optimum 2. discount 3. maximum 4. minimum
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13-A time horizon in MRP is composed of equal time periods called .....

1. Horizon 2. Time buckets 3. Priority 4. pPackages

14- 5 ,S uei means:

1. consider 2. procedure 3. constitute 4. embed
15-In many industrial systems, the proper ........cccceeeeees of facilities can lead to better utilization of
existing capacity
1. Aggregating 2. Scheduling 3. Contributing 4. Selling
16-Systematic layout planning is equally ............. To office, laboratory, service, warehouse, or

manufacturing operations.

1. Determined 2. Acquired 3. Applicable 4. Facilitate

17-Find the set in which the words a re antonym of each other?

1. interested, interactive 2. complex, intricate
3. fundamental, essential 4. reject, accept
18-A change in work methods, product or equipment may require a need for ............ in an existing
facility.
1. A simultaneous occurrence 2. |dleness
3. A go and stop 4. A new layou
19-Strategic .....ccoevvunvnnennnn are concerned with internal and external problems of the firm
1. decide 2. decisions 3. decided 4. deciding

20- For annual total cost ...., the minimum cross sectional area of the design variable of interest must

be found

1. Optimization 2. Optimizing 3. To optimize 4. Optimized
21-Almost all...... organizations have staff activities dealing with work measurement

1. manufactured 2. manufacture 3. manufacturing 4. a,bandc
22-The complete ........cccevvverennnn of a factory is described as Computer integrated manufacturing

1. Automated 2. Automation 3. Automat 4. Automating

23-With a varying production rate, inventory levels are kept low and there is considerable
.................. of personnel

1. Planning 2. Training 3. Hiring and firing 4. Controlling
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P2 B I 1 1Y can be defined as the degree of usefulness of any service for the public
1. Utilizing 2. Utilization 3. To utilize 4. utilized
25-An organizational ................... making has a number of distinguishing features.
1. Decision 2. Decided 3. To decide 4. Deciding
26-many systems....asthe time goes on, unless some .....action is taken, making sure receiving neat
results.
1. deteriorate-cottective 2. plow-speedy
3. skip-normal 4. fail-preventive

27-when the demand rate is constant &the .... is .... it is unnecessary to hold buffer stock.
1. lead time-zero 2. offset time-nil

3. |eads time-unity 4. waiting time-unity

28-A computer program that watches, earns and communicates with the user is called....

1. Supercomputer 2. Intelligent agent 3. Platform 4. Expert system

29-As the needs of the client organization change so mustbe a .........ccceuuueuennn. change in the industrial
engineering function.

1. Huge 2. Dramatic 3. Permanent 4. Corresponding
30-Since change is a common ......... in most organizations, the lay out problem is encountered

frequently

1. Operation 2. action 3. Requirement 4. Occurrence
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